
SOS-rules for asynchronous message passing pc2.2-29

for channel ccc with cap(c) ≥ 1cap(c) ≥ 1cap(c) ≥ 1

receiving a message:

ℓi

c?x
→֒i ℓ′

i
∧ ξ(c) = v1v2...vk ∧ k ≥ 1

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
−→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η

′, ξ′〉

ℓi

c?x
→֒i ℓ′

i
∧ ξ(c) = v1v2...vk ∧ k ≥ 1

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
−→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η

′, ξ′〉

ℓi

c?x
→֒i ℓ′

i
∧ ξ(c) = v1v2...vk ∧ k ≥ 1

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
−→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η

′, ξ′〉

where η′ = η[x :=v1]η′ = η[x :=v1]η′ = η[x :=v1] and ξ′ = ξ[c :=v2...vk]ξ′ = ξ[c:=v2...vk]ξ′ = ξ[c :=v2...vk]

sending a message:

ℓi

c!v
→֒i ℓ

′

i
∧ ξ(c) = v1...vk ∧ k<cap(c)

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η, ξ[c :=v1...vkv ]〉

ℓi

c!v
→֒i ℓ

′

i
∧ ξ(c) = v1...vk ∧ k<cap(c)

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η, ξ[c :=v1...vkv ]〉

ℓi

c!v
→֒i ℓ

′

i
∧ ξ(c) = v1...vk ∧ k<cap(c)

〈ℓ1, ...,ℓi , ..., ℓn, η, ξ〉
τ
→ 〈ℓ1, ...,ℓ

′
i
, ..., ℓn, η, ξ[c :=v1...vkv ]〉
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